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CHEMISTRY

BOOKS - NAGEEN CHEMISTRY (ENGLISH)

HYDROCARBONS

Revew Exercises

1. What are hydrocarbons and how are they classified?

° Watch Video Solution

2. Why is methane molecule tetrahedral in shape?

° Watch Video Solution



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_cUeiybFI2ZxI
https://dl.doubtnut.com/l/_y2DzG2SSWgN4

3. How would you prepare propane from propene

o Watch Video Solution

4. How would you prepare propane from propyl bromide

o Watch Video Solution

5. How would you prepare propane from butanoic acid?

o Watch Video Solution

6. Explain why does iso-pentane have a lower boiling point as compared

to that of n-pentane?

o Watch Video Solution



https://dl.doubtnut.com/l/_z4YBHVOLqvs6
https://dl.doubtnut.com/l/_2xTrT3RsPvSI
https://dl.doubtnut.com/l/_IFzo2MyOrPtE
https://dl.doubtnut.com/l/_000ZjtLHHW1X

7.What is the limiting density of alkanes?

o Watch Video Solution

8. What happens when sodium acetate is heated with sodalime

o Watch Video Solution

9. What happens when ethyl bromide is treated with Zn and HCI

o Watch Video Solution

10. What happens when methane is burnt in an insufficient supply of

oxygen

o Watch Video Solution



https://dl.doubtnut.com/l/_n5kRhXdngisv
https://dl.doubtnut.com/l/_9QceAbtoX0EE
https://dl.doubtnut.com/l/_VRCyAbLcAtXA
https://dl.doubtnut.com/l/_s7CsjVsiY3fs

1. What happens when a mixture of acetylene and hydrogen is passed

over heated nickel at 573 K?

° Watch Video Solution

12. Name the products obtained on treating a mixture of methyl bromide

and ethyl bromide with sodium in presence of ether.

° Watch Video Solution

13. Explain the formation of carbon-carbon double bond in ethene.

° Watch Video Solution

14. Write all the possible isomers of C, Hg

° Watch Video Solution



https://dl.doubtnut.com/l/_xsMkt7RrfvNR
https://dl.doubtnut.com/l/_Zlwo4XPcsKJD
https://dl.doubtnut.com/l/_OZ2Ce2Us5igG
https://dl.doubtnut.com/l/_aPVQgfB9h2pK
https://dl.doubtnut.com/l/_PH83pR63QMm5

15. Give the IUPAC name of the following alkenes :

&2

° Watch Video Solution

16. Give the IUPAC name of the following alkenes :

CH, = CH — CH = CH,

° Watch Video Solution

17. Give the IUPAC name of the following alkenes :
C.‘H-3 CFS, 0‘1:13
CHy;— CH-C =CH—- CH-CH3

° Watch Video Solution

18. Give the IUPAC name of the following alkenes :

(CHs),C = C(CHjs),

f


https://dl.doubtnut.com/l/_PH83pR63QMm5
https://dl.doubtnut.com/l/_oH7wAs2cw0nL
https://dl.doubtnut.com/l/_5OJqc42q9IFP
https://dl.doubtnut.com/l/_kh6WjrTHzD0V

| o Watch Video Solution

19. Which of the following can show geometrical isomerism?

(i) Propene (ii) But-1-ene (iii) But-2-ene (iv) Pent-2-ene

° Watch Video Solution

20. Explain why alkanes and alkynes are unable to show geometrical

isomerism

° Watch Video Solution

21. Explain why cis-isomer is less stable as compared to trans isomer

° Watch Video Solution



https://dl.doubtnut.com/l/_kh6WjrTHzD0V
https://dl.doubtnut.com/l/_8S6hoPeUNc05
https://dl.doubtnut.com/l/_l7Cy4gIuZpOH
https://dl.doubtnut.com/l/_UhiFtEOR0eMl

22. Explain why cis and trans isomers do not change into one another

under ordinary conditions?

° Watch Video Solution

23. Explain why compounds of the type aaC=Cab are unable to exhibit

geometrical isomerism?

° Watch Video Solution

24. How would you prepare ethene from ethyl iodide

° Watch Video Solution

25. How would you prepare ethene from ethylene dibromide

° Watch Video Solution



https://dl.doubtnut.com/l/_TOkIMZ9CITCj
https://dl.doubtnut.com/l/_RIUacWQ4UVAh
https://dl.doubtnut.com/l/_rlVuw5oQPV23
https://dl.doubtnut.com/l/_y5y0RlUOWiBw
https://dl.doubtnut.com/l/_YY4Uv3mIZmvX

26. How would you prepare ethene from ethanol

° Watch Video Solution

27. The reductive ozonolysis of an alkene gives a mixture of acetone and

formaldehyde. What is the structural formula of the alkene?

° Watch Video Solution

28. How would you identify the position of double bond in a given

unknown butene by reductive ozonolysis?

° Watch Video Solution

29. What happens when isopropyl bromide is heated with alcoholic KOH

° Watch Video Solution



https://dl.doubtnut.com/l/_YY4Uv3mIZmvX
https://dl.doubtnut.com/l/_ACjbtHooSN2A
https://dl.doubtnut.com/l/_ptzgfaOD26q5
https://dl.doubtnut.com/l/_0Y7vtoduro6k
https://dl.doubtnut.com/l/_lcj2pmFYNQzK

30. What happens when Pent-2-ene reacts with HBr

o Watch Video Solution

31. What happens when ethene is treated with chlorine water

o Watch Video Solution

32. What happens when 2-methyl propene is heated with a concentrated

solution of KMnQO,

o Watch Video Solution

33. Give the IUPAC names of the following alkynes :
02‘H5
CH?,—CEC— C H—CH3

° Watch Video Solution



https://dl.doubtnut.com/l/_lcj2pmFYNQzK
https://dl.doubtnut.com/l/_lREe6sIqYtMQ
https://dl.doubtnut.com/l/_qu6jx5dnRqSL
https://dl.doubtnut.com/l/_OFD26YD2yd1V
https://dl.doubtnut.com/l/_YkUpz8CgCSK3

34. Give the IUPAC names of the following alkynes :
C‘I?[:;
CH3—CEC— CH—CHQ—CHQCHE;

° Watch Video Solution

35. Give the IUPAC names of the following alkynes :

2

° Watch Video Solution

36. Give the IUPAC names of the following alkynes :

C.|H3
CH=C-CHy,— CH-C=CH

° Watch Video Solution

37.What are the states of hybridisation of carbon atoms forming a triple

bond?


https://dl.doubtnut.com/l/_YkUpz8CgCSK3
https://dl.doubtnut.com/l/_ry0MYXm4CNmP
https://dl.doubtnut.com/l/_23smjEdDdfVQ
https://dl.doubtnut.com/l/_OMuUPXSj8S0v

° Watch Video Solution

38. Why is acetylene molecule linear?

° Watch Video Solution

39. What type of isomerism is shown by But-2-yne and But-1, 3-diene?

° Watch Video Solution

40. Write the possible isomers with molecular formula C5Hg .

° Watch Video Solution

41. How would you prepare acetylene from CaC,

° Watch Video Solution



https://dl.doubtnut.com/l/_OMuUPXSj8S0v
https://dl.doubtnut.com/l/_onLkV3Jg12F5
https://dl.doubtnut.com/l/_HXCmxuKRntBD
https://dl.doubtnut.com/l/_ACJaQd0CnCrI
https://dl.doubtnut.com/l/_YFw6lf56cyFY
https://dl.doubtnut.com/l/_6JRdjUc4oCsM

42.How would you prepare acetylene from Chloroform

° Watch Video Solution

43. How would you prepare acetylene from 1, 2-dibromoethane

° Watch Video Solution

44. How would you obtain Acetaldehyde compounds from acetylene?

° Watch Video Solution

45. How would you obtain Ethylene compounds from acetylene?

° Watch Video Solution

46. How would you obtain Lewisite compounds from acetylene?


https://dl.doubtnut.com/l/_6JRdjUc4oCsM
https://dl.doubtnut.com/l/_NOL1U5FLrErj
https://dl.doubtnut.com/l/_Ccj5Cjzr8aks
https://dl.doubtnut.com/l/_v5q5JI2bugQz
https://dl.doubtnut.com/l/_C5QegJnANtT3

° Watch Video Solution

47. Which of the following alkynes show acidic charater?

(i) Propyne (ii) But-1-yne (iii) But-2-yne (iv) Pent-2-yne

° Watch Video Solution

48. What happens when acetylene is treated with hypochlorous acid

° Watch Video Solution

49. What happens when acetylene is passed in a dilute solution of

H,S50, containing HgSO,

° Watch Video Solution

50. What happens when Baeyer's reagent reacts with acetylene



https://dl.doubtnut.com/l/_C5QegJnANtT3
https://dl.doubtnut.com/l/_Ke7gFjqWfcCr
https://dl.doubtnut.com/l/_of7O2BdwNPzD
https://dl.doubtnut.com/l/_mADsDId9rj3i
https://dl.doubtnut.com/l/_IE4rmeagd1hf

| ° Watch Video Solution

51. What happens when Propyne is passed through a red hot iron tube?

° Watch Video Solution

52. Name the monomers which constitute the Teflon polymers.

° Watch Video Solution

53. Name the monomers which constitute the Vinyl acetylene polymers.

° Watch Video Solution

54.Name the monomers which constitute the Oron polymers.

° Watch Video Solution



https://dl.doubtnut.com/l/_IE4rmeagd1hf
https://dl.doubtnut.com/l/_cfjWbHhJ0BDh
https://dl.doubtnut.com/l/_FhTQukS4Di4s
https://dl.doubtnut.com/l/_AmJX4wEUCspa
https://dl.doubtnut.com/l/_wajocVhQm5Vr
https://dl.doubtnut.com/l/_Orblb1VI0LMA

55. What are arenes? Give two examples.

° Watch Video Solution

56. Discuss the orbital structure of benzene.

° Watch Video Solution

57. Why is benzene extra ordinarily stable though it contains three

double bonds?

° Watch Video Solution

58. Explain the resonance structure of benzene. What do you understand

by resonance hybrid?

° Watch Video Solution



https://dl.doubtnut.com/l/_Orblb1VI0LMA
https://dl.doubtnut.com/l/_SERGZlZJ3NIH
https://dl.doubtnut.com/l/_La292kX18muV
https://dl.doubtnut.com/l/_XM1gISt1GGlB
https://dl.doubtnut.com/l/_0rN6ukPaDwvh

59. Write the possible isomers of the C; Hg

° Watch Video Solution

60. Write the possible isomers of the C¢ H,(OH),

° Watch Video Solution

61. Write the possible isomers of the C4H,(CHj),

° Watch Video Solution

62. How would you account for the fact that C-C bond length in benzene

is intermediate to that of C-C and C=C bonds?

° Watch Video Solution



https://dl.doubtnut.com/l/_0rN6ukPaDwvh
https://dl.doubtnut.com/l/_9T0PozhTstgf
https://dl.doubtnut.com/l/_lx1qgGcHofEO
https://dl.doubtnut.com/l/_c4tzt6BOEhQl

63. Which of the following does not satisfy Huckel's rule?

(a) Benzene (b) 1, 3-cyclobutadiene (c) Naphthalene (d) Furan

° Watch Video Solution

64. Why are naphthalene and anthracene regarded as aromatic

compounds?

° Watch Video Solution

65. Explain the following reactions withan example for each :
(i) Reimer-Tiemann reaction

(ii) Friedel - Crafts reaction.

° Watch Video Solution



https://dl.doubtnut.com/l/_LkYuSHAl1Knh
https://dl.doubtnut.com/l/_pBoc9GPZGEGa
https://dl.doubtnut.com/l/_8BGvEriQrRm8

66. Complete the reaction :

sodalime
\

4 A 7
heat AlCl;

C2HsCl

C6H5 COONa

° Watch Video Solution

67. Complete the reaction :

H>S0.
C6H6 + HNO3 —2>4 A

° Watch Video Solution

68. Explain why are electrophilic substitution reactions the most

characteristic reactions of benzene?

° Watch Video Solution

69. What happens when benzene is treated with ozone and the product is

subjected to hydrolysis

| e |


https://dl.doubtnut.com/l/_w03gQtxD7TDf
https://dl.doubtnut.com/l/_oNKMDKdzoCDl
https://dl.doubtnut.com/l/_GcKFZbcVpeuE
https://dl.doubtnut.com/l/_CUsPVCF2Osa7

I & Watch Video Solution

70. What happens when toluene is heated with acidified KMnO,

° Watch Video Solution

71. What happens when phenol is heated with zinc dust

° Watch Video Solution

72. What happens when benzene is treated with acetyl chloride in the

presence of anhydrous AlCl;

° Watch Video Solution

73. What happens when benzene is treated with a mixture of

concentrated HNQOj; and concentrated H,50,?

e l


https://dl.doubtnut.com/l/_CUsPVCF2Osa7
https://dl.doubtnut.com/l/_3nWtSrpRG8ZZ
https://dl.doubtnut.com/l/_yUEWvQpf7nnF
https://dl.doubtnut.com/l/_bNveLVw2pAaL
https://dl.doubtnut.com/l/_XmmEqC6KzEJu

| ¥ Vvatch Video Solution J

74. Explain, why does benzene not undergo addition reactions easily?

° Watch Video Solution

75. What products are obtained on the destructive distillation of coal ?

How are aromatic compounds isolated from coal tar? Describe in detail.

° Watch Video Solution

76. What are the main constituents of coal tar?

° Watch Video Solution

77.Sort out the o- and p- and m-directing groups among the following:

—CN,0OH, - CH;, — SOsH, — CHO

| o WMl L\ dan C Al ikl n



https://dl.doubtnut.com/l/_XmmEqC6KzEJu
https://dl.doubtnut.com/l/_uwDxkBys9gbA
https://dl.doubtnut.com/l/_oyAK2hJtxvD0
https://dl.doubtnut.com/l/_MybddInAD5lf
https://dl.doubtnut.com/l/_UcDG0Mq19iM3
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78. What do you understand by the directive influence of a group?

° Watch Video Solution

79. Out of -OH and — NO, groups, which deactivates the benzene ring

and why?

° Watch Video Solution

80. Why does — NH, group directs the incoming group at the ortho and

para positions of the ring?

° Watch Video Solution

81. How is benzene prepared in the laboratory? Write a note on its

electrophilic substitution reactions.


https://dl.doubtnut.com/l/_UcDG0Mq19iM3
https://dl.doubtnut.com/l/_cktnmwM7F63b
https://dl.doubtnut.com/l/_7cZXK1hTbisX
https://dl.doubtnut.com/l/_08W3VePXQeIU
https://dl.doubtnut.com/l/_52gj8cSJdw0Y

° Watch Video Solution

Very Short Answer Tyep Questions

1. Name the elements present in hydrocarbons.

° Watch Video Solution

2. Why are alkanes referred to as paraffins?

° Watch Video Solution

3. What are the general formulae for monocyclic and bicyclic cycloalkanes

?

° Watch Video Solution



https://dl.doubtnut.com/l/_52gj8cSJdw0Y
https://dl.doubtnut.com/l/_cXoxaGhMJFzw
https://dl.doubtnut.com/l/_wIksVWqVwPzM
https://dl.doubtnut.com/l/_idgbxh890MQc

4. What is the shape of a methane molecule ?

o Watch Video Solution

5. How many types of H atoms are present in isobutane?

o Watch Video Solution

6. What type of hybridisation is involved in the formation of the C' — C

bond?

o Watch Video Solution

7. What type of hybridisation is involved in the formation of the C = C

bond?

o Watch Video Solution



https://dl.doubtnut.com/l/_NiqciZSXwNHS
https://dl.doubtnut.com/l/_WYhcnw5SRdZp
https://dl.doubtnut.com/l/_vpIE91QtpHOr
https://dl.doubtnut.com/l/_cuV7vXWq5AlF
https://dl.doubtnut.com/l/_emf4VebXxVVC

8. What type of hybridisation is involved in the formation of the C = C

bond?

o Watch Video Solution

9. Can 2-pentene show geometrical isomerism ?

o Watch Video Solution

10. Define cracking and give an example.

o Watch Video Solution

11. Name the alkanes with octane numbers 0 and 100.

o Watch Video Solution



https://dl.doubtnut.com/l/_emf4VebXxVVC
https://dl.doubtnut.com/l/_MmvFnutjQWfL
https://dl.doubtnut.com/l/_KT0mhSHA0e4h
https://dl.doubtnut.com/l/_PndOCr0japqC

12. Out of a straight chain alkane and a straight chain alkene having the

same number of carbon atoms, which has a higher octane number?

o Watch Video Solution

13. What is leaded gasoline?

o Watch Video Solution

14. What is cetane number?

o Watch Video Solution

15. Name the metal that is always present in a Grignard reagent.

o Watch Video Solution



https://dl.doubtnut.com/l/_nECzZ9NACnlf
https://dl.doubtnut.com/l/_fbgj1f8s46LI
https://dl.doubtnut.com/l/_J4gTZLmx4yuO
https://dl.doubtnut.com/l/_9Fc4VG65kkJo

16. What do you understand by decarboxylation of an acid ?

o Watch Video Solution

17. What is the role of CaO in sodalime ?

o Watch Video Solution

18. What type of forces do exist between the molecules of alkanes in

liquid and solid states ?

o Watch Video Solution

19. Among all the isomers of pentane which has the lowest boiling point ?

o Watch Video Solution



https://dl.doubtnut.com/l/_9c1ZsEvsTxDt
https://dl.doubtnut.com/l/_yIavCn0YxZW3
https://dl.doubtnut.com/l/_swsVuZEgvg1X
https://dl.doubtnut.com/l/_U4x4kD9TAf0I

20. Why do alkanes not dissolve in water but dissolve in benzene?

o Watch Video Solution

21. What do you understand by nitration ? Give an example.

o Watch Video Solution

22. How would you convert n-butane to iso-butane?

o Watch Video Solution

23. What are vicinal dihalides? Give an example.

o Watch Video Solution

24.How is vanaspati ghee prepared from edible oils ?


https://dl.doubtnut.com/l/_Cqcu29IbMlSs
https://dl.doubtnut.com/l/_ve060YPmPdX7
https://dl.doubtnut.com/l/_kesWgiRUgLq7
https://dl.doubtnut.com/l/_Y085SVzmW9Jz
https://dl.doubtnut.com/l/_GEGACISkWmAs

° Watch Video Solution

25. Name the rule that is observed during the addition of an

unsymmetrical molecule to an unsymmetrical alkene.

° Watch Video Solution

26. What is Baeyer's reagent ?

° Watch Video Solution

27. What is the monomer unit present in teflon ?

° Watch Video Solution

28. How would you prepare propyne from acetylene ?

° Watch Video Solution



https://dl.doubtnut.com/l/_GEGACISkWmAs
https://dl.doubtnut.com/l/_jK6x15liWdQT
https://dl.doubtnut.com/l/_myr4sgE22KQ7
https://dl.doubtnut.com/l/_YtGzIMAVZL5O
https://dl.doubtnut.com/l/_JC2BpZvZQ33j

29. Which of the following does possess acidic character?

(i) Butane (ii) But-1-ene (iii) But-1-yne (iv) But-2-yne

° Watch Video Solution

30. What is the general formula of Grignard reagents ?

° Watch Video Solution

31. What is the value of H-C-H bond angle in ethylene?

° Watch Video Solution

32. What type of addition reactions do alkenes usually undergo ?

° Watch Video Solution



https://dl.doubtnut.com/l/_JC2BpZvZQ33j
https://dl.doubtnut.com/l/_dzdguC9amd69
https://dl.doubtnut.com/l/_pGVLg0feJCru
https://dl.doubtnut.com/l/_fw14grVYDuIQ
https://dl.doubtnut.com/l/_kMud3zYYz7l2
https://dl.doubtnut.com/l/_Hf4T8PycJOG8

33. Name the product obtained on addition of a water molecule of

propene in the presence of dil. H,50,

° Watch Video Solution

34. Name the products obtained on the reductive ozonolysis of 2-

methylbut-2-ene.

° Watch Video Solution

35.What is the state of hybridisation of carbon atoms in benzene?

° Watch Video Solution

36. How many electrons are present in the delocalised pi-molecular

orbital of benzene?

° Watch Video Solution



https://dl.doubtnut.com/l/_Hf4T8PycJOG8
https://dl.doubtnut.com/l/_6ACexfHa7E7l
https://dl.doubtnut.com/l/_Fc8XUkBdjqDl
https://dl.doubtnut.com/l/_gRUMnWg43DVG

37. How many re-electrons must a ring system possess in order to exhibit

aromatic behaviour ?

° Watch Video Solution

38. Can 1-methylnaphthalene show position isomerism ?

° Watch Video Solution

39. What is the directive influence of — NH, group?

° Watch Video Solution

40. What is the percentage of carbon in anthracite ?

° Watch Video Solution



https://dl.doubtnut.com/l/_gRUMnWg43DVG
https://dl.doubtnut.com/l/_faeRMI9NmU6w
https://dl.doubtnut.com/l/_IjjXzULhSrUd
https://dl.doubtnut.com/l/_YTv7xw7Rcqvm
https://dl.doubtnut.com/l/_aO0nLHo0F6e0
https://dl.doubtnut.com/l/_WoRonxgbF8KG

41. What are the main constituents of light oil fraction of coal tar?

° Watch Video Solution

42. Name the product obtained on distillation of phenol with zinc.

° Watch Video Solution

43. What type of flame is given by benzene on burning?

° Watch Video Solution

44. What type of substitution reactions are shown by benzene?

° Watch Video Solution

45. Name a substance which acts as halogen carrier during the

chlorination of benzene.


https://dl.doubtnut.com/l/_WoRonxgbF8KG
https://dl.doubtnut.com/l/_CJfQw3kr4P1m
https://dl.doubtnut.com/l/_gmBKsuMPfy0a
https://dl.doubtnut.com/l/_8Y13WHSD8ckB
https://dl.doubtnut.com/l/_aQdqXBb30Swz

° Watch Video Solution

46. Which electrophile does carry out the nitration of benzene?

° Watch Video Solution

47.Name the catalyst used in Friedel-Crafts reactions,

° Watch Video Solution

Short Answer Tyep Questions

1. Discuss the classification of hydrocarbons. Give two examples of each

type.

° Watch Video Solution



https://dl.doubtnut.com/l/_aQdqXBb30Swz
https://dl.doubtnut.com/l/_kxuHwaoLKn61
https://dl.doubtnut.com/l/_ELIGVI7KnKGR
https://dl.doubtnut.com/l/_tOvOTzA9OQmG

2. Explain why are alkanes referred to as saturated hydrocarbons?

o Watch Video Solution

3. What type of isomerism is possible in alkanes ? Write all the possible

isomers of butane.

o Watch Video Solution

4, Discuss the structure of ethene.

o Watch Video Solution

5. What are the conditions necessary for a compound to show

geometrical isomerism ?

o Watch Video Solution



https://dl.doubtnut.com/l/_nn9WFrnwuOqe
https://dl.doubtnut.com/l/_KWByaEv9gn51
https://dl.doubtnut.com/l/_JEkzXEAJOKPa
https://dl.doubtnut.com/l/_LXph4buUskIH
https://dl.doubtnut.com/l/_48KCewPuAVfY

6. What is the origin of geometrical isomerism in alkenes ?

° Watch Video Solution

7. 1dentify the type of isomerism exhibited by the following compounds ?

CH3 - CH — CH — CH2CH3

° Watch Video Solution

8. Identify the type of isomerism exhibited by the following compounds ?

CH,;CH,CH,CH,

° Watch Video Solution

9. Identify the type of isomerism exhibited by the following compounds ?

C’51-7[12

° Watch Video Solution



https://dl.doubtnut.com/l/_48KCewPuAVfY
https://dl.doubtnut.com/l/_6Mm50gU2oXpi
https://dl.doubtnut.com/l/_5KmqXKzoPX4v
https://dl.doubtnut.com/l/_UeiHVXEHW0S6

10. Why do alkynes not show geometrical isomerism ?

o Watch Video Solution

11. Discuss with examples the various types of isomerism shown by

alkynes.

o Watch Video Solution

12. What is the origin of petroleum in nature ?

o Watch Video Solution

13. How is petroleum mined from an oil well ?

o Watch Video Solution



https://dl.doubtnut.com/l/_UeiHVXEHW0S6
https://dl.doubtnut.com/l/_GPnaVijLHeZX
https://dl.doubtnut.com/l/_BVlRHU3CkfI1
https://dl.doubtnut.com/l/_JhUgMsynW0ib
https://dl.doubtnut.com/l/_XUNolmVckg19
https://dl.doubtnut.com/l/_C2EWLnRWOtdz

14. What do you understand by cracking ? What is its significance in

petroleum industry?

o Watch Video Solution

15. Define reforming. How is the process useful in improving the quality of

gasoline ?

o Watch Video Solution

16. What is synthetic petrol?

o Watch Video Solution

17. What is knocking? How is it related to the structure of hydrocarbons

used as fuels ?

o Watch Video Solution



https://dl.doubtnut.com/l/_C2EWLnRWOtdz
https://dl.doubtnut.com/l/_f3yQBSHbmUoX
https://dl.doubtnut.com/l/_7e6pGuAq7nx5
https://dl.doubtnut.com/l/_vOJbebWEtscz

18. Define octane number. A sample of gasoline produces the same
knocking as mixture containing 35% n-heptane and 65% iso-octane. What

is the octane number of the sample ?

° Watch Video Solution

19. Describe different methods to improve the quality of a fuel used in a

gasoline engine.

° Watch Video Solution

20. What is the relationship between the structure of hydrocarbons used

as fuels and their octane numbers ?

° Watch Video Solution



https://dl.doubtnut.com/l/_DoJtEUYjcAGF
https://dl.doubtnut.com/l/_KTM7u6t2sYdq
https://dl.doubtnut.com/l/_W8D2xyAcwRcJ

21. What is Wurtz reaction ? Explain with examples. What are its

limitations?

° Watch Video Solution

22. What are Grignard reagents and how are they prepared ? What

happens when a Grignard reagent is treated with water ?

° Watch Video Solution

23. Describe Kolbe's electrolytic method for the preparation of methane.

° Watch Video Solution

24. Explain why A branched chain alkane possesses lower boiling point

than the corresponding straight chain alkane.

° Watch Video Solution



https://dl.doubtnut.com/l/_hQqurevYvHiF
https://dl.doubtnut.com/l/_doFJH6M50vBS
https://dl.doubtnut.com/l/_DZedkFgrzmVI
https://dl.doubtnut.com/l/_nZBXDix6mMfn

25. Explain why Alkanes with odd number of carbon atoms possess lower

boiling points than those having even number of carbon atoms

° Watch Video Solution

26. Explain why Alkanes do not possess much chemical reactivity under

ordinary conditions?

° Watch Video Solution

27.What do you understand by substitution reactions? Explain taking the

example of ethane.

° Watch Video Solution

28. How will you convert methane to ethane

e l


https://dl.doubtnut.com/l/_nZBXDix6mMfn
https://dl.doubtnut.com/l/_IR8qcAB7V5cS
https://dl.doubtnut.com/l/_VNzbdlpY2Ss4
https://dl.doubtnut.com/l/_D2eNMTAkvSKU
https://dl.doubtnut.com/l/_bE7q6EoPXPas

| ¥ Vvatch Video Solution J

29. How will you convert ethane to butane

o Watch Video Solution

30. How will you convert ethane to methane?

o Watch Video Solution

31. Describe the mechanism of dehydration of an alcohol in the presence

of HzSO4

o Watch Video Solution

32. What happens when 2-bromopropane is treated with alcoholic KOH

o Watch Video Solution



https://dl.doubtnut.com/l/_bE7q6EoPXPas
https://dl.doubtnut.com/l/_ob5nPuhQjf5C
https://dl.doubtnut.com/l/_0ifTzzdPgohP
https://dl.doubtnut.com/l/_KSGFRAFnenuh
https://dl.doubtnut.com/l/_ijoCwY66R2ug

33. What happens when 1,2-dibromopropane is heated with zinc dust

o Watch Video Solution

34. What happens when HBr is added to propene

o Watch Video Solution

35. What happens when 2-methyl propene is heated with a concentrated

solution of KMnQO,

o Watch Video Solution

36. What happens when propene is treated with chlorine at 773 K?

o Watch Video Solution



https://dl.doubtnut.com/l/_7CEZiAP9ERyl
https://dl.doubtnut.com/l/_wAul0Bpl1OXB
https://dl.doubtnut.com/l/_Yjxao1jgPoch
https://dl.doubtnut.com/l/_5rCsQqZJ5SrV

37.Explain why Alkenes have higher melting points than the alkanes with

the same carbon skeleton.

° Watch Video Solution

38. hydrocarbons undergo addition reactions.

° Watch Video Solution

39. Explain why The colour of Baeyer's reagent gets discharged when

treated with an alkene.

° Watch Video Solution

40. Explain why Teflon is used in making non-stick cooking utensils.

° Watch Video Solution



https://dl.doubtnut.com/l/_tYro78DbUUNi
https://dl.doubtnut.com/l/_seaOopuveQxJ
https://dl.doubtnut.com/l/_N8haY9lqGYue
https://dl.doubtnut.com/l/_nQ7R0et90gOk
https://dl.doubtnut.com/l/_MDSYEIJt8UQK

41. What is Markownikoff's rule and how is it useful in predicting the
addition of an unsymmetrical reagent to an unsymmetrical alkene? What

is peroxide effect?

° Watch Video Solution

42. Explain the ozonolysis of 2-butene.

° Watch Video Solution

43. A hydrocarbon decolourised bromine water. On ozonolysis it gives 3-
methyl butanal and acetaldehyde. Write the structure of the

hydrocarbon.

° Watch Video Solution



https://dl.doubtnut.com/l/_MDSYEIJt8UQK
https://dl.doubtnut.com/l/_d6S5LDV3Yaur
https://dl.doubtnut.com/l/_IkjMunTpKCyH

44. An alkene gives propan-2-one and 2-methylpropanal on ozonolysis.
Identify the alkene. What products will be obtained when it is treated

with hot and concentrated KMnQO, ?

° Watch Video Solution

45. How will you distinguish pentane from 1-pentene ?

° Watch Video Solution

46. How will you convert ethane to ethene

° Watch Video Solution

47. How will you convert propene to propane

° Watch Video Solution



https://dl.doubtnut.com/l/_CMlywLBSRuEc
https://dl.doubtnut.com/l/_DpmklzFkEGUi
https://dl.doubtnut.com/l/_9Impz9bk6RTb
https://dl.doubtnut.com/l/_3YjKckImJmRn
https://dl.doubtnut.com/l/_m4kAqRBdjXUW

48. How would you convert ethanol to ethene?

o Watch Video Solution

49. How will you convert propene to 2-bromopropane

o Watch Video Solution

50. How will you convert propene to 2, 3-dimethylbutane?

o Watch Video Solution

51. What happens when acetylene is treated with ozone

o Watch Video Solution

52. What happens when 1, 2-dibromo butane is treated with sodamide,



https://dl.doubtnut.com/l/_m4kAqRBdjXUW
https://dl.doubtnut.com/l/_M39G0G8Y8aSC
https://dl.doubtnut.com/l/_uOgq8PJVh8nh
https://dl.doubtnut.com/l/_Fhpqrt4yaNYP
https://dl.doubtnut.com/l/_1FKcQ3ltB5ZH

_ ° Watch Video Solution

53. What happens when an aqueous solution of potassium maleate is

subjected to electrolysis

° Watch Video Solution

54. What happens when iodoform is heated with silver powder

° Watch Video Solution

55. What happens when but-2-yne is treated with dilute KMnQO, solution

at room temperature ?

° Watch Video Solution

56. Describe a method to distinguish ethane, ethene and ethyne.

| e |


https://dl.doubtnut.com/l/_1FKcQ3ltB5ZH
https://dl.doubtnut.com/l/_sQDGP2xsiTc0
https://dl.doubtnut.com/l/_z6h1JvhXbcOL
https://dl.doubtnut.com/l/_srLBDGqE7DmW
https://dl.doubtnut.com/l/_dCU7cLBPqvmF

| & Watch Video Solution

57. How will you bring out the following conversions ?

Ethyne to methane

o Watch Video Solution

58. How will you bring out the following conversions ?

Ethene to ethyne

o Watch Video Solution

59. How will you bring out the following conversions ?

Ethane to ethyne

o Watch Video Solution



https://dl.doubtnut.com/l/_dCU7cLBPqvmF
https://dl.doubtnut.com/l/_IUti7LBFqoPM
https://dl.doubtnut.com/l/_axetys58vrJj
https://dl.doubtnut.com/l/_ERar6oehmMiN

60. How will you bring out the following conversions ?

Ethyne to but-2-yne

o Watch Video Solution

61. How will you bring out the following conversions ?

Ethyne to ethane

o Watch Video Solution

62. How will you account for the acidic character of acetylene?

o Watch Video Solution

63. Why are alkenes more reactive than alkanes ?

o Watch Video Solution



https://dl.doubtnut.com/l/_i1sDUBLgzRPx
https://dl.doubtnut.com/l/_hiO6yjBJMAE8
https://dl.doubtnut.com/l/_n4LibwpIAE5E
https://dl.doubtnut.com/l/_GziHaG4iE2f3
https://dl.doubtnut.com/l/_Y7B84MNuhTZa

64. What are poly atomic ions? Give two examples?

o Watch Video Solution

65. Mention the important characteristics of aromatic compounds.

o Watch Video Solution

66. What are arenes? Give two examples.

o Watch Video Solution

67. Discuss the Kekule's structure of benzene.

o Watch Video Solution



https://dl.doubtnut.com/l/_Y7B84MNuhTZa
https://dl.doubtnut.com/l/_4sk7H2Sk0z8c
https://dl.doubtnut.com/l/_61RHVkoRd5wQ
https://dl.doubtnut.com/l/_3FRwxkhnXTCP

68. Explain the resonance structure of benzene. What do you understand

by resonance hybrid?

o Watch Video Solution

69. What is meant by aromaticity ?

o Watch Video Solution

70. What is Huckel's rule ?

o Watch Video Solution

71. Write the structures of possible isomers of dichlorobenzene.

o Watch Video Solution



https://dl.doubtnut.com/l/_nXEqdHPyXWyT
https://dl.doubtnut.com/l/_Fomod7sSIS0D
https://dl.doubtnut.com/l/_arfaO5c0l3rr
https://dl.doubtnut.com/l/_POp155vhgGjZ

72. What is meant by directive influence of groups ? Sort out the o- and
p-, and m-directing groups among the following ?

—OH - CN, - COOH, - CH;3, — Br, — OCH;, — SOsH

° Watch Video Solution

73.Why does a m-directing group direct the incoming group towards the

m-position ?

° Watch Video Solution

74.How does an o- and p-directing group activate the ring? Illustrate with

an example.

° Watch Video Solution

75. What are the main constituents of coal tar?

| e |


https://dl.doubtnut.com/l/_EsLuCzAtCnQZ
https://dl.doubtnut.com/l/_6FLUlWegAF92
https://dl.doubtnut.com/l/_7Jf9ulPLuPyM
https://dl.doubtnut.com/l/_vsmJz6CdfTVe

l &J Watch Video Solution J

76. How is benzene prepared in the laboratory? Write a note on its

electrophilic substitution reactions.

° Watch Video Solution

77. How is benzene manufactured from coal tar ? Describe the process.

° Watch Video Solution

78. Although benzene is highly unsaturated it does not undergo addition

reactions. The explanation of this can be suggested as

° Watch Video Solution



https://dl.doubtnut.com/l/_vsmJz6CdfTVe
https://dl.doubtnut.com/l/_bLxdQiFfoXC8
https://dl.doubtnut.com/l/_SXk3E6vwGDpE
https://dl.doubtnut.com/l/_YVAPzGOKro2V

79. What are the most characteristic reactions of benzene ? Give two

examples.

o Watch Video Solution

80. Discuss the mechanism of nitration of benzene.

o Watch Video Solution

81. What is Friedel-Crafts reaction? Give an example.

o Watch Video Solution

Essay Long Answer Type Questions

1. What are hydrocarbons and how are they classified?

° Watch Video Solution



https://dl.doubtnut.com/l/_G4DgDIF0a5sK
https://dl.doubtnut.com/l/_fAkRfw8qAeCS
https://dl.doubtnut.com/l/_MDEMBzxYqZ2G
https://dl.doubtnut.com/l/_JtoehK4Cf2ga

2. Why are alkenes and alkynes regarded as unsaturated hydrocarbons?

Discuss the structures of ethene and ethyne.

° Watch Video Solution

3. What is geometrical isomerism and what type of compounds do exhibit

it?

° Watch Video Solution

4. An oxygen containing organic compound was found to contain 53%
carbon and 13% hydrogen. Its vapour density is 23. The compound reacts
with sodium metal to liberate hydrogen. Identify the functional isomer of

this compound.

° Watch Video Solution



https://dl.doubtnut.com/l/_JtoehK4Cf2ga
https://dl.doubtnut.com/l/_AZ3AWEn590IT
https://dl.doubtnut.com/l/_FGulcaZFB3um
https://dl.doubtnut.com/l/_wt6X8Sp0WIvQ
https://dl.doubtnut.com/l/_kBDTzxwMyAya

5. What do you understand by cracking and reforming?

° Watch Video Solution

6. Describe the principle involved in the synthesis of petrol from coal by

Bergius process. Describe the process with a flow diagram

° Watch Video Solution

7. Describe the principle involved in the synthesis of petrol from coal by

Bergius process. Describe the process with a flow diagram

° Watch Video Solution

8. Describe some important methods for the preparation of alkanes.

Discuss the substitution reactions of alkanes.

° Watch Video Solution



https://dl.doubtnut.com/l/_kBDTzxwMyAya
https://dl.doubtnut.com/l/_r9cGrOhH2GQ9
https://dl.doubtnut.com/l/_Hiw2DS1ZaXht
https://dl.doubtnut.com/l/_Xa8T48JQmDD4

9. Describe the important methods for the preparation of alkenes.

° Watch Video Solution

10. Why do alkenes and alkynes undergo addition reactions ? Describe

some important addition reactions of alkenes and alkynes.

° Watch Video Solution

11. Describe the important methods for the preparation of alkynes.

° Watch Video Solution

12. What is ozonolysis and how is it useful in locating the position of
double bond in an alkene? How would you detect the presence of double

bond in an unknown compound?

° Watch Video Solution



https://dl.doubtnut.com/l/_PeT5ySRv1Mnu
https://dl.doubtnut.com/l/_KdUJinYgpwVO
https://dl.doubtnut.com/l/_N0NNPa6eC6sF
https://dl.doubtnut.com/l/_3CQ6pj0Ei5pr

13. Describe the oxidation reactions of alkenes and alkynes.

o Watch Video Solution

14. What is polymerisation? Describe some important polymerisation

reactions of ethyne.

o Watch Video Solution

15. Write short notes on the Catalytic oxidation of hydrocarbons

o Watch Video Solution

16. Write short notes on the Markownikoff's rule

o Watch Video Solution



https://dl.doubtnut.com/l/_3CQ6pj0Ei5pr
https://dl.doubtnut.com/l/_zdIb1HXu9zfo
https://dl.doubtnut.com/l/_FYIcdibmg7vh
https://dl.doubtnut.com/l/_qgV7tiGXX8RW
https://dl.doubtnut.com/l/_Xu0c72ygHHkO
https://dl.doubtnut.com/l/_yuCRu51Z8088

17. Write short notes on the Friedel-Crafts reaction

o Watch Video Solution

18. Write short notes on the Wurtz reaction

o Watch Video Solution

19. Write short notes on the Grignard reagents

o Watch Video Solution

20. Why do alkenes undergo electrophilic addition reactions ? Discuss the

mechanism of electrophilic addition reactions of alkenes.

o Watch Video Solution



https://dl.doubtnut.com/l/_yuCRu51Z8088
https://dl.doubtnut.com/l/_oxHAgezlz4io
https://dl.doubtnut.com/l/_NpHvtDdhU9v9
https://dl.doubtnut.com/l/_ZQsfYPWoStPK

21. Discuss the orbital structure of benzene.

° Watch Video Solution

22.What do you understand by the term aromaticity ?

° Watch Video Solution

23. What do you understand by the directive influence of a group?

° Watch Video Solution

24. What products are obtained on the destructive distillation of coal ?

How are aromatic compounds isolated from coal tar? Describe in detail.

° Watch Video Solution



https://dl.doubtnut.com/l/_DTpUng7JU9Ft
https://dl.doubtnut.com/l/_mOrLlDU7pQ5u
https://dl.doubtnut.com/l/_vEo6RPjG2iC4
https://dl.doubtnut.com/l/_oGp1F2vmQzge

25. How is benzene prepared in the laboratory and on commercial scale ?

How does it react with ozone

° Watch Video Solution

26. How is benzene prepared in the laboratory and on commercial scale ?

How does it react with conc. HNQOj in the presence of conc. H, SO,

° Watch Video Solution

27.How is benzene prepared in the laboratory and on commercial scale ?

How does it react with Co H5Cl in the presence of AlICl3 ?

° Watch Video Solution

28. Give a detailed account of the electrophilic substitution reactions of

benzene. Discuss the mechanism also.

| e |


https://dl.doubtnut.com/l/_K1l7u1Q38P7b
https://dl.doubtnut.com/l/_g6dNBQ7pg6TR
https://dl.doubtnut.com/l/_h0au8QO6bcfy
https://dl.doubtnut.com/l/_fFfTbTf46KpH

| & Watch Video Solution

Objective Multiple Choice Type Questions

1. Which of the following formulae represent an alkane?

A. C1oHyy
B. C7H16
C. C5H8

D. CQHIO

Answer: B

o Watch Video Solution

2. How many structural isomer(s) is/are possible for Cy HyBrs ?

A A1


https://dl.doubtnut.com/l/_fFfTbTf46KpH
https://dl.doubtnut.com/l/_OSCUsbQHHZPV
https://dl.doubtnut.com/l/_AkePqGy8JNpy

B.B.2

C.C.3

D.D. 4

Answer: B

° Watch Video Solution

3. The total number of isomers for the compounds of the formula

CyH{yO are

A7

B.6

C.3

D.4

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_AkePqGy8JNpy
https://dl.doubtnut.com/l/_qhtGdxD1EtmC

4. Which one of the following compounds will show geometrical

isomerism ?

A. A. 2-Butene

B. B. Propene

C. C. 1-Phenylpropene

D. D. 2-Methyl-2-butene

Answer: A

o Watch Video Solution

5. Which of the following compounds will exhibit cis-trans (geometrical)

isomerism?

A. But-2-ene

B. But-2-yne


https://dl.doubtnut.com/l/_qhtGdxD1EtmC
https://dl.doubtnut.com/l/_eL796hm92Yy4
https://dl.doubtnut.com/l/_GmPownVfLyCw

C. Butan-2-ol

D. But-1-ene

Answer: A

o Watch Video Solution

6.Bond angle in alkenes is equal to

A.120°

B.109°28’

C.180°

D.60°

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_GmPownVfLyCw
https://dl.doubtnut.com/l/_7aka8b6akycB

7.When potassium acetate is electrolysed, we get

A. methane

B. ethane

C. acetylene

D. ethylene

Answer: B

o Watch Video Solution

8. To prepare a pure sample of n-hexane, using sodium metal as one of

the reactant, the other reactant(s) will be

A. ethyl chloride and n-butyl chloride

B. methyl bromide and n-pentyl bromide

C. n-propyl bromide

D. ethyl bromide and n-butyl bromide.


https://dl.doubtnut.com/l/_kQaoabdroLBE
https://dl.doubtnut.com/l/_0xqjHIZIm8fe

Answer: C

° Watch Video Solution

9.C'H, is formed when

A. sodium acetate is heated with soda lime

B. iodomethane is reduced

C. aluminium carbide reacts with water

D. all of the above.

Answer: D

° Watch Video Solution

10. Which of the following products is obtained when methyl magnesium

bromide reacts with ethyl alcohol ?


https://dl.doubtnut.com/l/_0xqjHIZIm8fe
https://dl.doubtnut.com/l/_winX9dmP6ORr
https://dl.doubtnut.com/l/_jcMBw0m13lPx

A. Acetone

B. Alcohol

C. Methane

D. Ethane

Answer: C

o Watch Video Solution

11. Wurtz reaction using bromoethane yields

A. (i) 2-bromobutane

B. (ii) n-butane

C. (iii) iso-butane

D. (iv) ethane.

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_jcMBw0m13lPx
https://dl.doubtnut.com/l/_U4AVpq9ozgfF

12. The compound with the highest boiling point is

A. n-hexane

B. n-pentane

C. 2,2-dimethylpropane

D. 2-methylbutane.

Answer: A

o Watch Video Solution

13. Liquid hydrocarbon is converted to a mixture of gaseous

hydrocarbons by

A. cracking

B. hydrolysis

C. oxidation


https://dl.doubtnut.com/l/_U4AVpq9ozgfF
https://dl.doubtnut.com/l/_8FStenvpCjhg
https://dl.doubtnut.com/l/_CwEuaMRuBoks

D. distillation under reduced pressure.

Answer: A

° Watch Video Solution

14. Bromoethane on treatment with alcoholic KOH gives

A. ethyl alcohol

B. butane

C. methane

D. ethylene

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_CwEuaMRuBoks
https://dl.doubtnut.com/l/_660ZyApouEZ4

15. Dehydrohalogenation involves removal of the halogenn atom together
with a hydrogen atom from carbon adjacent to the one with halogen
atom. Alcoholic KOH is used for dehydrohalogenation. According to
saytzeff's rule, when two alkenes may be formed, the alkene which is most
substituted is the major product.

Q. The ease of dehydrohalogenation for different halogens is in the order

A. dehydrogenation
B. dehalogenation
C.dehydration

D. dehydrohalogenation

Answer: D

o Watch Video Solution

16. The compound that decolourises alk. KMnQOy is



https://dl.doubtnut.com/l/_swi08pgjkhdG
https://dl.doubtnut.com/l/_h1MaQKHQzbFk

B. 02H4

C.CH,

D. CCly

Answer: B

o Watch Video Solution

17. The product formed when but-1-ene is subjected to HBr in the

presence of peroxide is

A. 1-bromobutane

B. 2-bromobutane

C. 1, 1-dibromobutane

D. 1, 2-dibromobutane.

Answer: A



https://dl.doubtnut.com/l/_h1MaQKHQzbFk
https://dl.doubtnut.com/l/_wkyEsZ9phFNG

| ° Watch Video Solution

18. CHy = C' HCl reacts with HCl to form

A ACH,Cl — CH,Cl
B. B)CH; — CHCl,
C.C)CH, = CHCI. HCl

D. D)none of these

Answer: B

° Watch Video Solution

19. The final products formed by

R—CH:CRzls

A.RCHO

B. R,CO

ozonolysis

of

compound


https://dl.doubtnut.com/l/_wkyEsZ9phFNG
https://dl.doubtnut.com/l/_bAizJpMYApBY
https://dl.doubtnut.com/l/_cO6sTRr1E5lv

C. both

D. none of these

Answer: C

° Watch Video Solution

20. What is Baeyer's reagent ?

A. alkaline permanganate solution

B. acidified permanganate solution

C. neutral permanganate solution

D. aqueous bromine solution

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_cO6sTRr1E5lv
https://dl.doubtnut.com/l/_3gW05tABmFe0

21. Dilute aqueous KMnQO, at room temperature reacts with R-CH=CH-R

to give
AR —-CHO
B.R — COOH

C. RCHOH — CHOHR

D.CO, + H,O

Answer: C

o Watch Video Solution

22. Acetylene can be prepared from

A. potassium fumerate

B. calcium carbide

C. ethylene bromide

D. all of these.


https://dl.doubtnut.com/l/_LreFIIUNPMpp
https://dl.doubtnut.com/l/_w89dnQqRJuFX

Answer: D

° Watch Video Solution

23. Number of acidic hydrogen atoms in but-1-yne is

A1l
B.2
C.3

D.4

Answer: A

° Watch Video Solution

24. Which of the following reacts with metal by displacing the hydrogen

atom?



https://dl.doubtnut.com/l/_w89dnQqRJuFX
https://dl.doubtnut.com/l/_vi6kDaZviG8o
https://dl.doubtnut.com/l/_BrTdkW2TH8ec

A.CH,

B. C2H6

C.CyH,

D. CQHQ

Answer: D

° Watch Video Solution

25. 00

In the above reaction X is

A.HNOs

B.O,

C.0;

D. KM’I’LO4

Answer: C



https://dl.doubtnut.com/l/_BrTdkW2TH8ec
https://dl.doubtnut.com/l/_d239JNY7S5yl

| ° Watch Video Solution

26. Which one of the following reagents distinguish ethylene from

acetylene?

A. A. Aqueous alkaline KMnO,

B. B. Cl5 dissolved in CCly

C. C. Ammoniacal CuyCly

D. D. conc. Hy,S0,

Answer: C

° Watch Video Solution

27. A hydrocarbon that reacts with sodium in liquid NHj is

B.CH; — C = C — CHs


https://dl.doubtnut.com/l/_d239JNY7S5yl
https://dl.doubtnut.com/l/_YhECuV7BpCNE
https://dl.doubtnut.com/l/_DL94BDu8awTr

C.CH; — CH = CH — CHj

D.CH; — CH, — CH = CH,

Answer: A

° Watch Video Solution

28. A metallic carbide on treatment with water gives a colourless gas

which burns readily in air and gives a precipitate with ammoniacal silver

nitrate solution. The gas evolved is

A. methane

B. ethane

C. acetylene

D. ethylene

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_DL94BDu8awTr
https://dl.doubtnut.com/l/_BwDb79CcyAFU

29.In alkenes, 7 -electrons forming carbon-carbon m-bond are

A. localised

B. delocalised over the entire molecule

C. may or may not be delocalised

D. none of the above

Answer: A

o Watch Video Solution

P
30. The process C; Hyg —6—70%;) C¢H;CH; + 4H, is a

A. cracking process
B. reforming process
C. platforming process

D. substitution process.


https://dl.doubtnut.com/l/_BwDb79CcyAFU
https://dl.doubtnut.com/l/_Os6voLHpCSJW
https://dl.doubtnut.com/l/_41UgrO1kYXNO

Answer: B::C

° Watch Video Solution

31. Which of the following when used as a fuel have the maximum

tendency to resist knocking ?

A. Straight chain alkanes

B. Cycloalkanes

C. Olefins

D. Branched chain alkanes

Answer: D

° Watch Video Solution

32.The quality of diesel is expressed in terms of


https://dl.doubtnut.com/l/_41UgrO1kYXNO
https://dl.doubtnut.com/l/_BgUFGKeBJvR4
https://dl.doubtnut.com/l/_qTbCyFYwT21J

A. octane number

B. decane number

C.ignition number

D. cetane number

Answer: D

o Watch Video Solution

33. Which of the following when treated with a Grignard reagent yield (s)

an alkane?

A. H,0O

B.Cy H:OH

C.both HyO and CH;CH,OH

D. none of the two

Answer: C



https://dl.doubtnut.com/l/_qTbCyFYwT21J
https://dl.doubtnut.com/l/_OkzOgvP4X4SM

| o Watch Video Solution

34. A compound decolourises Baeyer's reagent and gives a mixture of
propanoic acid and ethanoic acid when treated with a hot and conc.
solution of KMnQO, . The compound is

A. pent-1-ene

B. pent-2-ene

C. 2-methylbut-1-ene

D. 2-methylbut-2-ene

Answer: B

o Watch Video Solution

35. Nitration of benzene by nitric acid and sulphuric acid is

A. electrophilic substitution


https://dl.doubtnut.com/l/_OkzOgvP4X4SM
https://dl.doubtnut.com/l/_wyo926SX2Ol4
https://dl.doubtnut.com/l/_w1LcQFwr7JRM

B. electrophilic addition

C. nucleophilic substitution

D. free radical substitution.

Answer: A

° Watch Video Solution

36. Benzene vapour mixed with air when passed over V,Oy catalyst at 775

K give

A. glyoxal

B. oxalic acid

C. maleic anhydride

D. fumaric acid.

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_w1LcQFwr7JRM
https://dl.doubtnut.com/l/_qsd8QjrM29eR

37. Which of the following statements is correct for benzene ?

A.All the six carbon atoms and all the six hydrogen atoms lie in
different planes.

B. The ring system consists of three localised C' — C'm -bonds.

C.The ring system consists of a delocalised m-molecular orbital
containing six electrons.

D. Each C atom is in a state of sp® hybridisation.

Answer: C

o Watch Video Solution

38. In the Friedel-Crafts acylation, the attacking species is

A AlCI,

B. CH;COC!


https://dl.doubtnut.com/l/_qsd8QjrM29eR
https://dl.doubtnut.com/l/_nvKc6S1W8qHC
https://dl.doubtnut.com/l/_bl3xS5KSZMfB

c.Clt

D.CH;CO™*

Answer: D

° Watch Video Solution

39. Which of the following is not the characteristics of an arene?

A. A. Resonance

B. B. Delocalization of pie electrons

C. C. More stability

D. D. Undergoes electrophilic addition reaction

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_bl3xS5KSZMfB
https://dl.doubtnut.com/l/_tRrQueC3d68B

40. In the reaction HIO; acts as

A. A a catalyst

B. B. a halogen carrier

C.C.an oxidizing agent

D. D. a reducing agent.

Answer: C

o Watch Video Solution

41. Propyne and propene can be distinguished by
conc. HySOy
B’I"2 in CCI4

dil. KMnO,

AgNOs3 in ammonia

A. conc. HyS0,


https://dl.doubtnut.com/l/_EU9OwglHIyDZ
https://dl.doubtnut.com/l/_8ryeKhO8bfPg

B. Bry in CCly

C.dil. KMnO,

D. AgNQOj3 in ammonia

Answer: D

° Watch Video Solution

42. Acetylene does not react with

A. Na

B. ammoniacal AgNOs;

C. Hdl

D. NaOH

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_8ryeKhO8bfPg
https://dl.doubtnut.com/l/_9LY1Q7HQzpzw
https://dl.doubtnut.com/l/_cserS3510kBq

43. But-1-ene may be converted to butane by reaction with

A. Zn-HCI
B. Sn-HCI
C.Zn-Hg

D. Pd / H,

Answer: D

o Watch Video Solution

44, 2-methylbutane on reacting with bromine in the presence of sunlight
gives mainly

A. 1-bromo-3-methylbutane

B. 2-bromo-3-methylbutane

C. 2-bromo-2-methylbutane

D. 1-bromo-2-methylbutane


https://dl.doubtnut.com/l/_cserS3510kBq
https://dl.doubtnut.com/l/_oiEtIUsPMJet

Answer: C

o Watch Video Solution

45, Presence of a nitro group in a benzene ring

A. activates the ring towards electrophilic substitution

B. renders the ring basic

C. deactivates the ring towards nucleophilic substitution

D. deactivates the ring towards electrophilic substitution.

Answer: D

o Watch Video Solution

46. In the following sequence of reactions, the alkene affords the

compound 'B'

H>

o
> B the compound B is

CH,CH — CHCH; — A :


https://dl.doubtnut.com/l/_oiEtIUsPMJet
https://dl.doubtnut.com/l/_Zg7uZFpWfMmo
https://dl.doubtnut.com/l/_0pjz1tiZ28lg

A CH;CH,CHO

B.CH3;COCH;

C. CH3;CH,COCHj,

D.CH;CHO

Answer: D

o Watch Video Solution

47.The hydrocarbon which can react with sodium in liquid ammonia is :
1.CH3;CH,CH,C = CCH,CH,CHj,

2.CH3;CH,C =CH

3.CH3CH = CHCHj;

4CH30H20 = CCH20H3

A. CH30H2CH2C = CCH20H20H3

C.CH;CH = CHCH;


https://dl.doubtnut.com/l/_0pjz1tiZ28lg
https://dl.doubtnut.com/l/_ISgry6TjQRY6

D. CH3CHQC = CCHQCHg

Answer: B

° Watch Video Solution

48.The treatment of CH3MgX with CH3C = C' — Hproduces

A.a.CH3-CH=CH?2

B.b.CH;C = C — CHj

o
C.cCH; —-C =C — CH;

D.d.CHy

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_ISgry6TjQRY6
https://dl.doubtnut.com/l/_JqyVk8LLEWO7

49. Ozonolysis of an organic compound gives formaldehyde as one of

products. This confirms the presence of

A. two ethylenic double bonds

B. a vinyl group

C. an iso propyl group

D. an acetylenic triple bond.

Answer: B

o Watch Video Solution

50. Ozonolysis of an organic compound A produces acetone and

propionaldehyde in equimolar mixture. Identify A from the following

compounds.

A. 2-methyl pent-l-ene

B. pent-1-ene


https://dl.doubtnut.com/l/_UKxEybeBZODt
https://dl.doubtnut.com/l/_PV0eixjxouQg

C. pent-2-ene

D. 2-methyl pent-2-ene

Answer: D

o Watch Video Solution

51. The non-aromatic compound among the following is

Als
B. s
c. &

D. s

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_PV0eixjxouQg
https://dl.doubtnut.com/l/_4sy56gGu0KsU

52.In the following the most stable conformation of n-butane is

A s

B. le.

C. le

D. le.

Answer: B

o Watch Video Solution

53. With respect to the conformers of ethane, which of the following
statements is true ?

A. Bond angle remains same but bond length changes.

B. Bond angle changes but bond length remains same.

C. Both bond angle and bond length change.

D. Both bond angles and bond length remains same.


https://dl.doubtnut.com/l/_yGgYge14hude
https://dl.doubtnut.com/l/_aTvw2rMz1PA1

Answer: D

° Watch Video Solution

54. Predict the correct intermediate and product in the following reaction
H,0,H,S0,

H;C — C = CH ——— intermediate — product
HgSO04 (A) (B)

P

° Watch Video Solution

55. Which one is the correct order of acidity?

B.CH=CH >CH; —C=CH >CHy, =CHy > CH; — CH;

C.CH=CH>CH,>CH, > CH; — C=CH > CH; — CH;

D.CH; — CH; > CHy = CH, > CH; — C = CH > CH = CH


https://dl.doubtnut.com/l/_aTvw2rMz1PA1
https://dl.doubtnut.com/l/_JrcHtFcPjsPn
https://dl.doubtnut.com/l/_1IECmWyZ2ctL

Answer: B

° Watch Video Solution

56. 3-methyl-pent-2-ene on reaction with HBr in the presence of peroxide

forms an addition product. The number of possible sterecisomers for the

product is

A. two

B. four

C. six

D. zero

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_1IECmWyZ2ctL
https://dl.doubtnut.com/l/_Z6VEmFnuNIb4

57. Hydrocarbon (A) reacts with bromine by substitution to form an alkyl
bromide which by Wurtz reaction is converted to gaseous hydrocarbon
containing less than four carbon atoms. (A) is:

1.CH = CH

2.CH, = CH,

3.CH; — CH;

4.CH,

ACH=CH
B. CH2 - CH2
C.CH; — CH,4

D.CH,

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_ZEAn01fRBRtX

58. The compound C'; Hg undergoes the following reactions :

3ClL/ A Bry/ Fe Zn |/ HCl
7H8 >y A > B >

The product Cis :

1) m- bromotoluene

2) o-bromotoluene

3)3-bromo-2, 4, 6-trichlorotoluene

4) p-bromotoluene

A. m-bromotoluene

B. o-bromotoluene

C.3-bromo-2, 4, 6-trichlorotoluene

D. p-bromotoluene

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_76NmGZdA71d9

59. Identify the major products P, Q and R in the following sequence of

reactions :

2

Alel

B. &2

C. e

D. e

Answer: D

o Watch Video Solution

60. Which of the following represents the given sequence of hybridisation

of carbon atoms from left to right sp, sp>, sp, sp?

ACH=C-C=CH

B.CH,=CH - C =CH


https://dl.doubtnut.com/l/_jnJK5kzKvJNA
https://dl.doubtnut.com/l/_vo98kKXoedl2

C.CH, = CH — CH = CH,

D.CH; — CH = CH — CH;4

Answer: B

° Watch Video Solution

61. The trans-alkenes are formed by the reduction of alkynes with

A.H, — Pd/C, BaSO,
B. NaBH,
C.Na/liq. NH;

D.Sn — HCI

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_vo98kKXoedl2
https://dl.doubtnut.com/l/_cdLHRKrd2wgc

62. Among the following, the reaction that proceeds through an

electrophilic substitution, is :

Alel

B. &2

C. e

D. e

Answer: D

o Watch Video Solution

63. The most suitable reagent for the following conversion, is

A. Zn/HCI
B.Hg*" /H™, H,O
C.Na/liq. NH3

D. H,, Pd/C, quinoline


https://dl.doubtnut.com/l/_RFL5P09EzQwO
https://dl.doubtnut.com/l/_wM5lP4LJz7aV

Answer: D

° Watch Video Solution

64. An alkene "A" on reaction with O3 and Zn gives propanone and
acetaldehyde in equimolar Addition of HCl to alkene "A" gives "B" as the

product. The structure of product "B" is:

Al

B. s

C.les

D.[&

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_wM5lP4LJz7aV
https://dl.doubtnut.com/l/_alvV2Vwe2yCI

65. In the following skew conformation of ethane, H'-C-C-H" dihedral angle
is :

3

a.120°

b.58°

c151°

d.149°

A.120°

B.58°

C.151°

D. 149°

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_CjrBpokVDjRD

66. 25 g of an unknown hydrocarbon upon burning produces 88 g of CO,

and 9 g of H,O . This unknown hydrocarbon contains

A. 18 g of carbon and 7 g of hydrogen
B. 20 g of carbon and 5 g of hydrogen
C. 22 g of carbon and 3 g of hydrogen

D. 24 g of carbon and 1 g of hydrogen.

Answer: D

o Watch Video Solution

67. The major product of the following reaction is


https://dl.doubtnut.com/l/_jl6j0OstfJ8I
https://dl.doubtnut.com/l/_run3udImOOIG

D. s

Answer: C

° Watch Video Solution

68. The major product of the following reaction is :

CH,CH = CHCO,CH; ~2

A CH;CH,CH,CO,CHj,

B. CH,CH,CH,CH,OH

C.CH;CH = CHCH,0H

D.CH;CH,CH,CHO

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_run3udImOOIG
https://dl.doubtnut.com/l/_EMMvbaUwiEZk

69. Which one of the following alkenes when treated with HCI yields

majorly an anti-Markownikoff product:

1.CH 30-CH=CH 22. H 2N -CH=CH 23. F 3C-CH=CH 24.Cl-CH=CH 2'

A.CH,0 — CH = CH,

B. H,N — CH = CH,

C.F,C — CH = CH,

D.Cl — CH = CH,

Answer: C

o Watch Video Solution

70. The percentage composition of carbon by mole in methane is:

A.0.75

B.0.8

C.0.2


https://dl.doubtnut.com/l/_7EfgDS73OSVB
https://dl.doubtnut.com/l/_4OjijycIsuMy

D. 25%.

Answer: C

o Watch Video Solution

71. Poly substitution is a major drawback in
(a)Reimer Tiemann reaction
(b)Friedel Crafts acylation
(c)Friedel Crafts alkylation
(d)acetylation of aniline.
A. Reimer Tiemann reaction
B. Friedel Crafts acylation

C. Friedel Crafts alkylation

D. acetylation of aniline.

Answer: C

| o Watch Video Solution


https://dl.doubtnut.com/l/_4OjijycIsuMy
https://dl.doubtnut.com/l/_OdGVlPz4Yh5Z

True Or False Type Questions

1. Comment over the following statement. Hydrocarbons may be both

acyclic as well as cyclic

° Watch Video Solution

2. All alkanes possess sp® hybridised carbon atoms.

° Watch Video Solution

3. Why do alkynes not show geometrical isomerism ?

° Watch Video Solution

4. Do structural isomers possess similar chemical properties?


https://dl.doubtnut.com/l/_OdGVlPz4Yh5Z
https://dl.doubtnut.com/l/_FsNbX5XruXr2
https://dl.doubtnut.com/l/_AfsxO4z1ZMvp
https://dl.doubtnut.com/l/_3tW4q8XgscQy
https://dl.doubtnut.com/l/_TXFwcpDi6ull

° Watch Video Solution

5. What are the four condition for aromaticity?

° Watch Video Solution

6. 1-butene cannot show geometrical isomerism.

° Watch Video Solution

7. Explain the cause of geometrical isomerism and state the properties of

geometrical isomers.

° Watch Video Solution

8. Hydrocarbons are the parent compounds of all other organic

compounds.



https://dl.doubtnut.com/l/_TXFwcpDi6ull
https://dl.doubtnut.com/l/_ggXjxnPM5e8m
https://dl.doubtnut.com/l/_anbOZVWRUAgI
https://dl.doubtnut.com/l/_XrqitLbQ6yG6
https://dl.doubtnut.com/l/_sFxZK2j3aey7

| ° Watch Video Solution

9. Petroleum ether obtained on fractionation of petroleum contains

pentane, hexane and heptane. State whether the statement is true or not.

° Watch Video Solution

10. Find the valency if Chlorine.

° Watch Video Solution

11. A fuel has the same knocking property as a mixture of 70% isooctane
(2,2,4 trimethyl pentane) and 30% n heptane by volume, the octane

number of the fuel is

° Watch Video Solution



https://dl.doubtnut.com/l/_sFxZK2j3aey7
https://dl.doubtnut.com/l/_GCllkztcheUj
https://dl.doubtnut.com/l/_wsX7BHD0kU8N
https://dl.doubtnut.com/l/_xEnKkvE4sngX

12. The branching in an alkane increases its tendency of knocking.
Comment over the statement and name the commonly used antiknocking

agent.

° Watch Video Solution

13. What is leaded gasoline?

° Watch Video Solution

14. Assertion: Wurtz reaction is not preferred for the preparation of
alkanes containing odd number of carbon atoms.
Reason: It is not possible to prepare alkanes with odd number of carbon

atoms through wurtz reaction.

° Watch Video Solution



https://dl.doubtnut.com/l/_G3S6QNBrHHIu
https://dl.doubtnut.com/l/_zJRM14kiAXXf
https://dl.doubtnut.com/l/_z2y6PBANgTbs

15. Removal of C'O, from a -COOH group is called decarboxylation.

o Watch Video Solution

16. Alkanes containing even number of carbon atoms possess higher

melting points than those containing odd number of carbon atoms.

o Watch Video Solution

17. Write the chlorination reactions of ethene

o Watch Video Solution

18. Alkanes burn with a smoky flame.

o Watch Video Solution



https://dl.doubtnut.com/l/_wTK7HsqoV0XD
https://dl.doubtnut.com/l/_vJ5kIVln20Lv
https://dl.doubtnut.com/l/_hVklPLpAbnDc
https://dl.doubtnut.com/l/_5XqqDl9VLGzD

19. CH,Br— CHy — CH, Br is a vicinal dihalide. True/False

° Watch Video Solution

20. In the presence of peroxide addition of HBr to propene takes place
according to anti Markownikoff's rule but peroxide effect is not seen in

the case of HCl and HI. Explain.

° Watch Video Solution

21. Assertion (A). Combustion of all organic compounds is an exothermic
reaction.

Reason (R). The enthalpies of all elements in their standard state are zero

° Watch Video Solution

22, Teflon is also known as PTFE.

| e |


https://dl.doubtnut.com/l/_tNNIAYQRDENe
https://dl.doubtnut.com/l/_udlEPcKdyV4x
https://dl.doubtnut.com/l/_ADLKBfgjhLeb
https://dl.doubtnut.com/l/_iNKIBGqq5Sjq

I & Watch Video Solution

23. Melting and boiling points of alkynes are lower than those of the

corresponding alkenes.

° Watch Video Solution

24. Acetylene upon ozonolysis gives

° Watch Video Solution

25. Why do alkenes prefer to undergo electrophilec addition reaction

while arenes prefer electrophilic substitution reactions ? Explain.

° Watch Video Solution

26. What are aromatic compounds ? Give at least two examples.

s l


https://dl.doubtnut.com/l/_iNKIBGqq5Sjq
https://dl.doubtnut.com/l/_UwHgvClnHNcn
https://dl.doubtnut.com/l/_2vsQ5GFxjdmY
https://dl.doubtnut.com/l/_NPVqkUpPkvsN
https://dl.doubtnut.com/l/_n7pPf1GqfKbT

| ¥ Watch Video Solution

27. All C-C bonds in benzene are of equal length.

o Watch Video Solution

28.Benzene ring contains ___ localised o -and ___ localised 7 -bonds.

o Watch Video Solution

29. Explain resonance in benzene.

o Watch Video Solution

30. Naphthalene is an aromatic compound.

o Watch Video Solution



https://dl.doubtnut.com/l/_n7pPf1GqfKbT
https://dl.doubtnut.com/l/_bnLq5FbBU3eu
https://dl.doubtnut.com/l/_gFg4TPj0wysj
https://dl.doubtnut.com/l/_4OZUD0HO9Ji6
https://dl.doubtnut.com/l/_w1IsEIhUXsI0
https://dl.doubtnut.com/l/_eGaW6Mq7KvB6

31. How does an o- and p-directing group activate the ring? Illustrate with

an example.

o Watch Video Solution

32. Given an example of meta-directing group.

o Watch Video Solution

33.The creosote oil fraction of coal tar distillation contains mainly cresols

and naphthalene.

o Watch Video Solution

34.Benzene burns with a luminous flame.

o Watch Video Solution



https://dl.doubtnut.com/l/_eGaW6Mq7KvB6
https://dl.doubtnut.com/l/_k54YqcuvMJZl
https://dl.doubtnut.com/l/_Xgo0LXmeyjDT
https://dl.doubtnut.com/l/_lgDMJ55U00wU
https://dl.doubtnut.com/l/_0CivXn15LbXP

35.The attacking species in the sulphonation of benzene is SO; .

o Watch Video Solution

Fill In The Blanks Type Questions

1. Alkanes are also referred to as............. and have the general formula ...

° Watch Video Solution

2. Methane molecule is ... in shape with all bond angles equal to

.............

° Watch Video Solution

3. Convert :

Carbon to acetylene

° Watch Video Solution



https://dl.doubtnut.com/l/_0CivXn15LbXP
https://dl.doubtnut.com/l/_hchi48FXw6J4
https://dl.doubtnut.com/l/_9BkQkNJd4xQY
https://dl.doubtnut.com/l/_iDIl9M5uAuiw

4. Reforming is the process of converting ... and ... alkanes into

corresponding ... hydrocarbons.

° Watch Video Solution

5.The knocking behaviour of a fuel with octane number 60 is the same as

the mixture containing ... % iso-octane and ... % n-heptane.

° Watch Video Solution

6. The commonly used antiknock compound is ...

° Watch Video Solution

7. Compounds of the type R-Mg-X are known as...........

° Watch Video Solution



https://dl.doubtnut.com/l/_iDIl9M5uAuiw
https://dl.doubtnut.com/l/_YbozPLmzkbNR
https://dl.doubtnut.com/l/_LvoegOBP17X1
https://dl.doubtnut.com/l/_qeij1H3TIrHl
https://dl.doubtnut.com/l/_dlADyYyIgoKU

8. Sodalime is a mixture of and in the ratio..........

° Watch Video Solution

9. Fluorination of alkenes takes place .. and may result in the

° Watch Video Solution

10. The coversion of n-hexane to benzene involves ............

° Watch Video Solution

Ll p— is a better dehydrohalogenating agent as compared to ...

° Watch Video Solution



https://dl.doubtnut.com/l/_dlADyYyIgoKU
https://dl.doubtnut.com/l/_HyA6TtUkG9J3
https://dl.doubtnut.com/l/_KkhATn8CX7nG
https://dl.doubtnut.com/l/_hMR7P50IodYo
https://dl.doubtnut.com/l/_catXrRKk8HDx
https://dl.doubtnut.com/l/_DGazUMSy7SGn

12. Alkenes and alkynes burn with a ......... . flame.

° Watch Video Solution

13. The best method for locating the position of double bond in an

unknown alkene is ...............

° Watch Video Solution

14. The molecular weight of low density polythene ranges between

° Watch Video Solution

15. The dehydrohalogenation of a 1, 1-dihalide results in the formation of

° Watch Video Solution



https://dl.doubtnut.com/l/_DGazUMSy7SGn
https://dl.doubtnut.com/l/_KiLXogDwHjrY
https://dl.doubtnut.com/l/_NINc2mievOOG
https://dl.doubtnut.com/l/_PuP4nW4abLes

16. When acetylene is treated with ammonical cuprous chloride, a ...

precipitate of ... is formed.

° Watch Video Solution

17. The delocalised ™ -molecular orbital in benzene contains three ...

bicentric molecular orbitals and possesses full ..... symmetry.

° View Text Solution

18. A ring system exhibits aromatic character when it contains .. -

electrons.

° Watch Video Solution

19. Furan (C4H,0) is an ... compound.

| ° Wiak A \NtAAaA CAlLiikiAan



https://dl.doubtnut.com/l/_PuP4nW4abLes
https://dl.doubtnut.com/l/_DPcMSKiGy99C
https://dl.doubtnut.com/l/_o2ZcF5UuEE2E
https://dl.doubtnut.com/l/_a4oV90TxEgo3
https://dl.doubtnut.com/l/_mWGsBnpV0RpK

[ ¢ YVULLIL VIMLGUY JUVIVGIWVEL )

20. o- and p-directing substituents are ... substituents, whereas m-

directing substituents are ........ substituents.

° Watch Video Solution

21. The first stage in the formation of coal in nature is ... which contain

......... % of carbon.

° Watch Video Solution

22.The light oil fraction of coal tar mainly contains , ,and

° Watch Video Solution

Assertion Reason Type Questions



https://dl.doubtnut.com/l/_mWGsBnpV0RpK
https://dl.doubtnut.com/l/_B0Ae0h6yPR8O
https://dl.doubtnut.com/l/_LObsGAFyHIlv
https://dl.doubtnut.com/l/_zkXJUs0FRCsD

1. Assertion : The carbon-carbon bond length in benzene lies between the

bond lengths of C-C and C=C bonds found in other molecules.

Reason: Benzene exhibits the phenomenon of resonance

A.If both Assertion and Reason are CORRECT and Reason is the

CORRECT explanation of the Assertion.

B. If both Assertion and Reason are CORRECT but Reason is not the

CORRECT explanation of the Assertion.

C. | Assertion is CORRECT but Reason is INCORRECT.

D. If Assertion is INCORRECT but Reason is CORRECT.

Answer: A

o Watch Video Solution

2. Alkanes containing even number of carbon atoms possess higher

melting points than those containing odd number of carbon atoms.


https://dl.doubtnut.com/l/_EsgNh6dDLjUs
https://dl.doubtnut.com/l/_NZW78Ea4d1fw

A.If both Assertion and Reason are CORRECT and Reason is the

CORRECT explanation of the Assertion.

B. If both Assertion and Reason are CORRECT but Reason is not the

CORRECT explanation of the Assertion.

C. | Assertion is CORRECT but Reason is INCORRECT.

D. If Assertion is INCORRECT but Reason is CORRECT.

Answer: D

o Watch Video Solution

3. Assertion: The major product obtained in the reaction of HBr with
propene is 2-bromopropane.

Reason : 2° carbocations are more stable than 1° carbocations.

a. If both Assertion and Reason are CORRECT and Reason is the CORRECT
explanation of the Assertion.

bf both Assertion and Reason are CORRECT but Reason is not the

CORRECT explanation of the Assertion.


https://dl.doubtnut.com/l/_NZW78Ea4d1fw
https://dl.doubtnut.com/l/_SZSk4xkEijNg

c.Assertion is CORRECT but Reason is INCORRECT.

d.If Assertion is INCORRECT but Reason is CORRECT.

A.If both Assertion and Reason are CORRECT and Reason is the

CORRECT explanation of the Assertion.

B. If both Assertion and Reason are CORRECT but Reason is not the

CORRECT explanation of the Assertion.

C. | Assertion is CORRECT but Reason is INCORRECT.

D. If Assertion is INCORRECT but Reason is CORRECT.

Answer: A

o Watch Video Solution

4. Assertion : Alkynes are less reactive than alkenes towards electrophilic
reagents
Reason : General formula of alkenes is CnH2n-2

a.lf both Assertion and Reason are CORRECT and Reason is the CORRECT


https://dl.doubtnut.com/l/_SZSk4xkEijNg
https://dl.doubtnut.com/l/_926MJtCeINcV

explanation of the Assertion.

b.If both Assertion and Reason are CORRECT but Reason is not the

CORRECT explanation of the Assertion.

c. Assertion is CORRECT but Reason is INCORRECT.

d.If Assertion is INCORRECT but Reason is CORRECT.

A.If both Assertion and Reason are CORRECT and Reason is the

CORRECT explanation of the Assertion.

B. If both Assertion and Reason are CORRECT but Reason is not the

CORRECT explanation of the Assertion.

C. | Assertion is CORRECT but Reason is INCORRECT.

D. If Assertion is INCORRECT but Reason is CORRECT.

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_926MJtCeINcV

5. Assertion : Addition of bromine to trans-but-2-ene yields meso-2,3-
dibromobutane.

Reason : Bromine addition to an alkene is a nucleophilic addition

(a) If both Assertion and Reason are CORRECT and Reason is the CORRECT
explanation of the Assertion.

(b) If both Assertion and Reason are CORRECT but Reason is not the
CORRECT explanation of the Assertion.

(c) I Assertion is CORRECT but Reason is INCORRECT.

(d)I Assertion is CORRECT but Reason is INCORRECT.

A.If both Assertion and Reason are CORRECT and Reason is the

CORRECT explanation of the Assertion.

B. If both Assertion and Reason are CORRECT but Reason is not the

CORRECT explanation of the Assertion.

C. | Assertion is CORRECT but Reason is INCORRECT.

D. If Assertion is INCORRECT but Reason is CORRECT.

Answer: C


https://dl.doubtnut.com/l/_kkFeT0wiluD0

° Watch Video Solution

Ncert Text Book Exercises

1. How do you account for the formation of ethane during chlorination of

methane ?

° Watch Video Solution

2. Write the IUPAC names of the compound:

CH;CH = C(CHs),

° Watch Video Solution

3. Write the IUPAC names of the compound:

CH, = CH — CH = C — CH,

° Watch Video Solution



https://dl.doubtnut.com/l/_kkFeT0wiluD0
https://dl.doubtnut.com/l/_tgUOeGaw8a6v
https://dl.doubtnut.com/l/_GDd3b8HSRWFd
https://dl.doubtnut.com/l/_H7QUtm6GaVsH

4. Write the IUPAC names of the compound

° Watch Video Solution

5. Write the IUPAC names of the compound:

&2

° Watch Video Solution

6. Write the IUPAC names of the compound:

&2

° Watch Video Solution

7. Write the IUPAC names of the compound:

&2



https://dl.doubtnut.com/l/_H7QUtm6GaVsH
https://dl.doubtnut.com/l/_TX1xnbUfXJ4m
https://dl.doubtnut.com/l/_BcdeaIJNV68R
https://dl.doubtnut.com/l/_Fve0c86Yp1dd
https://dl.doubtnut.com/l/_mc7LEXnogmHs
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8. Write the IUPAC names of the compound:

CH, - CH=CH-CH, - CH=CH - CH—CH,— CH = CH,
\
CyHy

° Watch Video Solution

9. For the following compounds, write structural formulas and IUPAC
names for all possible isomers having the number of double or triple
bond as indicated:

(a) C4Hg(one double bond)

(b) CsHg (one triple bond)

° Watch Video Solution

10. For the following compounds, write structural formulas and IUPAC
names for all possible isomers having the number of double or triple

bond as indicated:


https://dl.doubtnut.com/l/_mc7LEXnogmHs
https://dl.doubtnut.com/l/_Yzo0q2qHx1ms
https://dl.doubtnut.com/l/_RkHMvFa9dfjA
https://dl.doubtnut.com/l/_bEhL9o03JBQ8

(a) CyHg(one double bond)

(b) C5Hg (one triple bond)

° Watch Video Solution

11. Write IUPAC names of the products obtained by the ozonolysis of the
following compounds:
(i) Pent-2-ene (ii) 3,4-Dimethyl-hept-3-ene

(iii) 2-Ethylbut-1-ene (iv) 1-Phenylbut-1-ene

° Watch Video Solution

12. Write IUPAC names of the products obtained by the ozonolysis of the
following compounds:
(i) Pent-2-ene (ii) 3,4-Dimethyl-hept-3-ene

(iii) 2-Ethylbut-1-ene (iv) 1-Phenylbut-1-ene

° Watch Video Solution



https://dl.doubtnut.com/l/_bEhL9o03JBQ8
https://dl.doubtnut.com/l/_jS007wGtcw2Q
https://dl.doubtnut.com/l/_QGB4iIBsvFQg
https://dl.doubtnut.com/l/_1mDfOnGY34ul

13. Write IUPAC names of the products obtained by the ozonolysis of the
following compounds:
(i) Pent-2-ene (ii) 3,4-Dimethyl-hept-3-ene

(iii) 2-Ethylbut-1-ene (iv) 1-Phenylbut-1-ene

° Watch Video Solution

14. Write IUPAC names of the products obtained by the ozonolysis of the
following compounds:
(i) Pent-2-ene (ii) 3,4-Dimethyl-hept-3-ene

(iii) 2-Ethylbut-1-ene (iv) 1-Phenylbut-1-ene

° Watch Video Solution

15. An alkene ‘A’ on ozonolysis gives a mixture of ethanal and pentan-3-

one. Write structure and IUPAC name of ‘A.

° Watch Video Solution



https://dl.doubtnut.com/l/_1mDfOnGY34ul
https://dl.doubtnut.com/l/_BASsTatYb6F0
https://dl.doubtnut.com/l/_kpaMaxpkLbKi
https://dl.doubtnut.com/l/_06PnSrMcS6Yl

16. An alkene ‘A contains three C - C, eight C - H (o) bonds and one C - C
() bond. ‘A on ozonolysis gives two moles of an aldehyde of molar mass

44 u. Write IUPAC name of ‘A.

° Watch Video Solution

17. Propanal and pentan-3-one are the ozonolysis products of an alkene?

What is the structural formula of the alkene?

° Watch Video Solution

18. Write chemical equations for combustion reaction of the following
hydrocarbons:

(i) Butane

(ii) Pentene

(iii) Hexyne

(iv) Toluene

| ° Wiak A \tAAaA CAlLiikiAan



https://dl.doubtnut.com/l/_06PnSrMcS6Yl
https://dl.doubtnut.com/l/_NPtyVdg6TXxD
https://dl.doubtnut.com/l/_gBajAd5udVjG
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19. Write chemical equations for combustion reaction of the following
hydrocarbons:

(i) Butane

(ii) Pentene

(iii) Hexyne

(iv) Toluene

° Watch Video Solution

20. Write chemical equations for combustion reaction of the following
hydrocarbons:

(i) Butane

(ii) Pentene

(iii) Hexyne

(iv) Toluene

° Watch Video Solution



https://dl.doubtnut.com/l/_gBajAd5udVjG
https://dl.doubtnut.com/l/_RKEamakePzBJ
https://dl.doubtnut.com/l/_eSwPFjdj8XOw

21. Write chemical equations for combustion reaction of the following
hydrocarbons:

(i) Butane

(ii) Pentene

(i1i) Hexyne

(iv) Toluene

° Watch Video Solution

22.Draw the cis and trans structures of hex-2-ene. Which isomer will have

higher b.p. and why?

° Watch Video Solution

23. Why is benzene extra ordinarily stable though it contains three

double bonds?

° Watch Video Solution



https://dl.doubtnut.com/l/_NBjsmKaI2wIx
https://dl.doubtnut.com/l/_3Ht9jZw5kPQz
https://dl.doubtnut.com/l/_bDzVdktf5oXf

24.What are the necessary conditions for any system to be aromatic?

o Watch Video Solution

25. Explain why the following systems are not aromatic?

(1) @:CHZ (i1) @ (i11) ©

° Watch Video Solution

26. Explain why the following systems are not aromatic?

(1) @——-CH2 (i1) O (ii1) ©

° Watch Video Solution



https://dl.doubtnut.com/l/_UnFojSzwCo3y
https://dl.doubtnut.com/l/_Fm06Mx5OeXBq
https://dl.doubtnut.com/l/_kx90LxcmyTwR

27. Explain why the following systems are not aromatic?

W @:c}.;2 (ii) @ (i) @

° Watch Video Solution

28. How will you convert benzene into
(i) p-nitrobromobenzene

(ii) m-nitrochlorobenzene

(iii) p -nitrotoluene

(iv) acetophenone

° Watch Video Solution

29. How will you convert benzene into (a) p-nitrobromobenzene (b) m-

nitrobromobenzene

° Watch Video Solution



https://dl.doubtnut.com/l/_RhhdABQGv2HQ
https://dl.doubtnut.com/l/_KOITqo7pEUmV
https://dl.doubtnut.com/l/_jmYmR8w9wNxH

30. How will you convert benzene into
(i) p-nitrobromobenzene

(ii) m-nitrochlorobenzene

(iii) p -nitrotoluene

(iv) acetophenone

° Watch Video Solution

31. How will you convert benzene into
(i) p-nitrobromobenzene

(ii) m-nitrochlorobenzene

(iii) p -nitrotoluene

(iv) acetophenone

° Watch Video Solution

32. In the alkane H3C — CH, — C(CH;), — CH, — CH(CHj),,

identify 1°,2°,3°, carbon atoms and give the number of H atoms


https://dl.doubtnut.com/l/_r13p1Mza5D8Q
https://dl.doubtnut.com/l/_spNl63tDHVwo
https://dl.doubtnut.com/l/_6lK4OJCWz8rk

bonded to each one of these.

° Watch Video Solution

33. What effect does branching of an alkane chain has on its boiling

point?

° Watch Video Solution

34. Addition of HBr to propene yields 2-bromopropane, while in the
presence of benzoyl peroxide, the same reaction yields 1-bromopropane.

Explain and give mechanism.

° Watch Video Solution

35. Write down the products of ozonolysis of 1, 2-dimethylbenzene (o-

xylene). How does the result support Kekulé structure for benzene?

° Watch Video Solution



https://dl.doubtnut.com/l/_6lK4OJCWz8rk
https://dl.doubtnut.com/l/_bxdHRq4c8pXt
https://dl.doubtnut.com/l/_HYgkFnASIYQS
https://dl.doubtnut.com/l/_qJYQ8EZrEsfK

36. Arrange benzene, n-hexane and ethyne in decreasing order of acidic

behaviour. Also give reason for this behaviour.

° Watch Video Solution

37.Why does benzene undergo electrophilic substitution reactions easily

and nucleophilic substitutions with difficulty?

° Watch Video Solution

38. How would you convert the Ethyne compounds into benzene?

° Watch Video Solution

39. How would you convert the following compounds into benzene?

(i) Ethyne


https://dl.doubtnut.com/l/_qJYQ8EZrEsfK
https://dl.doubtnut.com/l/_2tmrSwtbxVg3
https://dl.doubtnut.com/l/_Mm4yCX0JBYTo
https://dl.doubtnut.com/l/_dSR2x7hmn8QJ
https://dl.doubtnut.com/l/_8BQNJcbtAGkr

(ii) Ethene

(iii) Hexane

° Watch Video Solution

40. How would you convert the following compounds into benzene?
(i) Ethyne
(ii) Ethene

(iii) Hexane

° Watch Video Solution

41. Write structures of all the alkenes which on hydrogenation give 2-

methylbutane.

° Watch Video Solution



https://dl.doubtnut.com/l/_8BQNJcbtAGkr
https://dl.doubtnut.com/l/_Q3GN64m8J64j
https://dl.doubtnut.com/l/_E0c2RyH0kOtY

42. Arrange the following set of compounds in order of their decreasing
relative reactivity with an electrophile, E+
(@) Chlorobenzene, 2,4-dinitrochlorobenzene, p-nitrochlorobenzene

(b) Toluene,p — H3C— C6H4_ NOz, P — OzN— 06H4_ N02

° Watch Video Solution

43. Arrange the following set of compounds in order of their decreasing
relative reactivity with an electrophile, E+
(@) Chlorobenzene, 2,4-dinitrochlorobenzene, p-nitrochlorobenzene

(b) Toluene,p — H3C— C6H4_ NOz, P — OzN— 06H4_ N02

° Watch Video Solution

44, Out of benzene, m-dinitrobenzene and toluene which will undergo

nitration most easily and why?

° Watch Video Solution



https://dl.doubtnut.com/l/_Kn9td5Ss3JFh
https://dl.doubtnut.com/l/_LUHlfbxLgRlK
https://dl.doubtnut.com/l/_Hgq4DbTdj0Mh

45, Suggest the name of a Lewis acid other than anhydrous aluminium

chloride which can be used during ethylation of benzene.

° Watch Video Solution

46. Why is Wurtz reaction not preferred for the preparation of alkanes
containing odd number of carbon atoms? lllustrate your answer by taking

one example.

° Watch Video Solution



https://dl.doubtnut.com/l/_hbviFXkvXfIy
https://dl.doubtnut.com/l/_xJtcbCwQzYyG

